Writing and Language SAT Practice Test 29

Careers Passa g with Informational Gra phic

Questions 1-11 are based on the following passage and
supplementary material.

A Life in Traffic

A subway system &5 expanded to provide service to a growing
suburb. A bike-sharing program i adopted to encourage
nonmatarized transparctation. [l To alleviate rush hour traffc
jams in a congested downtown area, stoplight timing is
coordinated. When any one of these changes Bl occus. it is likely
the resubt of careful analysis conducted by transpoctation planners.

The waork «f transportation planners generally includes
evaluating current transportation needs, assessing the effectivencss
of existing fadlities, and improving those facilities or [El they
design new omnes. Most transportation planners work in or near

cities, [l but some are emploved in rural areas. Say, o example, a
I.:IIE;E factory is baoilt on the ocutckirts of a small town. Traffec bo amd
from that kecation would increase at the beginning and end of
work shifis. The transportation EEM‘: jrby, might imvalve
-nl:u'l-l:h.l.cli:l'lﬂa.tl’a.ﬂ'-l: count b determine the daily nomber af
wehidles traveling on the road to the new faciory. If analysiz of the
traffic count indicates that there is more traffic than the [T curmenit
road as it s designed at this Hme can eficiently accommodate, the
transpar tadiomn FII.:I.I1.I1.EI' n'u“]'ll rmnmﬂwidﬂlin“ﬂ'b:mad (18]
add another ke

Transportation planoers work closely with a number of
commumnity stakeholders, such 2= government officials and other
interested organizations and individuals. [Bll Next, representatives
from the local public health department might provide input in
designing a netwark of trails and sidewalks o encourage people 1o
walk mare. [ According to the American Heart Association,
walking provides numerons benefits related o health and
well-being. Members of the Chamber of Commerce might share
suggpestions about designing transponation and parking facilities
b suppaort local bosinesses.




uﬂmphwl'ru purse careers in transportation planning have a
wide variety of educational backgrounds. A two-year degree in
im the fiedd. Most jobs, however, require at least a bachelor's degree;
mafrs oftrscportton planers re [l o, nchdin fds uch
as urban studies, civil engineering, geography, or transportation and
Ingistics. For many positions in the field, a masters degree is required.

Transportation planners perform critical work within the
broader field of urban and regional planning. As of 2010, there
in the United States. The United States Bureau of Labor Statistics
forecasts steady job growth in this feld, [T projecting that
16 percent of new jobs in all occupations will be related to urban
and regional planning Population growth and concerns about
environmental sustainability are expected to spur the need for

Urhan and Regional Planners
Percent Increase in Employment. Projected 3010 - 2030

Related Workers

Urban and
Regional Planners

Total. All Occupations

0% 2% 4% 6% &% 10T 129 14% 16% 18% 0%

Adapted from United States Buresu of Labor Statistics, Empll

" Frojectans prog
“All occupations® includes all ccoupations in the United States sconomy.

L
Which choice best naintains the sentence pattern already established in
the paragraph?

A) NO CHANGE

B) Coordinating stoplight timing can help alleviate rush hour traffic jams
in a congested downtown area.

C) Stoplight timing is coordinated to alleviate rush hour traffic jams ina
congested downtown area.

[} In a congested downtown area, stoplight timing is coordinated to
alleviate rush hour traffic jams.



wnal

e

Content: Effective Langquage Use
Hey: C

Objectve: You must ensure consistency of style within a serles of
SENbences.

Explanation: Cholee C is the best answer because [t most closely
malntains the sentence pattern estahlished by the two preceding
sentences, which begin with noun and passive verb phrages (A subway
aysiem is expanded,” “A bike-sharing program ks adopted").

Chobee A 12 not the best answer because it does not maintaln the
gentence pattern established by the two preceding sentences. Rather, it
begins the sentence with an Infinitive phrase.

Chobee B is not the best answer becawse It does not maintain the
sentence pattern established by the two preceding sentences. Rather, it
begins the sentence with a gerund phrage.

Chobee I ks not the best answer because it does not maintaln the
sentence pattern established by the two preceding sentences. Rather, it
places a prepositional phrase, “in a congested downtown area ” at the
beginning of the sentence.

[ 2 |
A} NO CHANGE
B} occur, they are
) occurs, they are
) occurs, it is
Content: Conventions of Usage
Key: D
Objective: You must maintaln grammatical agreement between
pronoun and antecedent and between subject and verb.
Explanation: Chalee D iz the best answer because it makntaing
agreement between the pronoun (“it*) and the antecedent (“any one®)
and between the subject (“any one”) and the verb [“occours™).
Chobee A 18 not the best answer because the plural verb “oecur” does not
gree with the singular subject “amy one.”
Chobee B is not the best answer becawse the plural verb “occur” does not
agres with the singular subject “any one™ and because the plural pronoun
“they” does not agree with the singular antecedent “any one.”
Chobee C 12 not the best answer becauss the plural pronoun “they” does
niot agree with the singular antecedent “any one.”



= |
A) WO CHANGE

Bl o deign
1 dewigning
L) design

Cionbsnk: Sl Srusliins

Ky C

Oilsjiectivne Yiou Ml Sainias pamliel st

Explanation: Chaice T ib i bl s b “didEgning” mainta
Baliam with “wvaluating,” * T ——

Choies & isnot th best anewar bocaiss “they design” dees ol madstain
Buliare with “wvalusting,” * sing = andl “Empesving ~

Chigien B & mesl U Bl Ao Dincaiiig 6 diigs” dosil Aol mainias
Baliam with “wvaluating,” * T ——

Chaien O e nod this baot anawar Boeaiiod “dewign” doel sl madsiain
Builiare with “wvalusting,” * sing = andl “Empeing ”

[ 4 ] |
Which choice rewnlis m the i effecti o the ind i

St fullows s the paragraph?
A) MO CHANGE

) mmd the maporiy e cmplyed by i s
I DELETE the usderined portann and end s sestence with o period.

Content: Ceganization

Ky &

Cibjeciive: You e dalrmiss Thie rool o feciin assition bewees
aliaz

Expdatailon! Chaicn A 1o D Bail afdwes bicauio & allsoivaly sgsals
tha shilt in thi passgraph to tha axamphs of B woek a transportation
planmar smight pardeemn il he or sl wers smployed = a ruml amne and
askid io comgilar e allecis of 4 new Lacery buili “on the ouiskins o a
armall sowmn ~

Chgien B & mesl Ui Bl afciine bincaiie Saling that job opposiunitie s
o pleaiihal in cibi dod Hiod allcwly dgsal thi ekl i the
parageaph o the sxasphe ol the workl & Eessperiaten plannes meghi
pearfors il hior she wam amghyed ina rol anea.

Chaien C isnat tha baol answar Becanss ssiing That sosl ransgoraisan
Planmei Wik b GUVETmenl sanciel dod Bl aflssiialy shmal the
ahh s i paragraph b the aeample ol the weik & Ineaparialion plasssar
Eight paetsem i ho or S W Smpleyed = o niral ama.



Chobee D k2 not the best answer because the proposed deletion weuld
create a jarring shift from the statement “Most transpartation planness
work in or near elties"” to the example of the work a transportation
planmer might perform if he or she were employed in a roral area

A) NOCHANGE

B) planner’s job

) planners job,

D) planners job
Content: Conventlons of Punctuation
Hey: B
Objective: You must differentiate between possessive and plural nouns.
You must also recognize and eliminate unnesegsary punctuation
Explanation: Choice B 12 the bast anawer because it carrectly uses an
aposatrophe to indicate possegzion and dees not mtroduce any
URfecEsEary punctuation.

Chobee A 2 not the best answer because while it cormectly indicates the
possessive relationship between “transportation plannes” and “job,” it
Introduces an unnecessary comma after the word “job."

Chabce C Is not the best answer because it does not indleate the
possessive relationship between “transportation planner® and “job,* and
becawse it iIntroduces an unnecessary comma after the word “job.”

Chalee D k2 not the hest answer becauge it does not indieate the
possessive relationship between “transportation planner® and “jab.™

A) MO CHANGE
B} current design of the road right now
C) road as il.:i.-.':|'||-ml\.'v:l.'n'l\cl'||1.'|'5.I d.::i_ﬂ;nud
) current ﬂ:iﬂ;n al the road
Content: Effective Language Use
Hey: D
Objective: You must achieve econoeny of expreaalon.
Explanation: Cholce D ks the best answer because it affers a clear and
conclee wording without redundancy or wordiness.
Chobee A ls not the best answer because “current” is redundant with “at
thiz time" and because “az it ls desbgned" is unnecessarily wardy.



Chalee C iz not the best angwer becawse It incorrectly sats off the
eszential sentence element “In transportation planning™ with commeas az
though the phrage were not essential to the meaning of the sentence. “In
tranapartation planning” is essential Infoemation defining what the
“careers™ are.

Chalee ¥ i= not the best answer because it introduces an unnecessary
comma after the word “planning,” incorrectly setting off the subject of the
sentence [“people who pursue careers in transportatbon planning”) from
the predicate (“have a wide variety of educational backgrounds™).

10 ]
A) NOCHANGE
B) varied, and including
) varied and whidh include
[} varied, which include
Content: Sentence Structure
Eey: A
Objective: You must kentify the preper connection between sentence
elements.
Explanation: Chobee A ks the best answer becawse It effectively wses a
comma and “including” to et off the list of varied fields in which
transportation planners major.
Chalee B i not the begt answer because “and including® results in an
ungrammatical sentence.
Chalee C is not the best angwer becawse “and which include” regults in
an ungrammatical sanbenes.

Chalee I i= not the best answer because it ls unclear from this
congtruction to what exactly the relative pronoun “which” refers.

m |

‘Which chaoice completes the sentence with accurate data based on the Fpﬂ\?

A) NO CHANGE

B) warning, however, that job growth in urban and regional planning will
show to 14 percent by 2020,

C) predicting that employment of urban and regional planmers will
increase 16 percent between 2010 and 2020,

D} indicating that 14 to 18 percent of usban and regional planning
positions will remain unfilled.

Content: Development

Hey: C

Objective: You must evaluate text based on data presented graphbealhy.
Explanation: Cholee C s the best answer because it completes the
senbence with an accurate interpretation of data in the graph. The graph
displays projections of how much growth ln employrnent there is expected
to be between 2010 and 2020 for “social scientists and related workess,”
fior “urban and regional planners.” and in “all cecupations® in the ULS.
economy. According to the graph, the employment of urban and regional
planners [s expected to increage 16 percent between 2010 and 2020.

Chabee A 12 not the best answer becauge the data in the graph do not
support the claim that 16 percent af new jobs in all sccupations will be
related to wrban and reglonal planning.

Chaobee B iz not the best angwer becawse the data in the graph do not
support the claim that job growth in urban and regional planning will
slow to 14 percent by 2020.

Chaobee D k= not the best answer because the data in the graph do not

support the claim that 14 to 18 percent of wban and reglonal planning
positions will remain unfilled.



Chalee B iz not the begt answer because “current”™ |2 redundant with
“right now.™

Chalee C is not the best anawer becawse “now” ls redundant with
“currenthy.”

7 | |
A) WO CHANGE
Bl For instance,
] Furthermore,
¥} Sirmilarly,
Content: Organkzation
Eey: B
Objective: You must determine the most logical transitional word or
phrase.
Explanation: Chalce B iz the best answer because the transitional phrase
“For instance” logbcally Indicates that what follows provides an example
related to the previous sentence. “Representatives from the local public
health department” iz an example of the kinds of people with wham
transportation planness work.
Chalee A Is not the best answer because the ransitional word “Next"
indicates sequence, which 12 not logbeal glven that what fallows provides
an example related to the previous sentence.

Cholee C iz not the best anawer because the transitional ward
“Furthermore” indicates addition, which = not logical given that what
fallows provides an example related to the previous sentence.

Chalee D {2 not the best answer because the transitional word “ Similarly™

indicates comparigon or likeness, which k= not logical given that what
follows provides an example related to the previows sentence.

[ & | |
The writer is considering deleting the underlined sentence. Should the
sentence be kept or deleted?

Al hﬂh:mhmmidﬂwﬂh‘gzﬁdmuabuﬂﬂxbendisd’mlﬁng.

Bl Kept, because it provides an additional example of a community
stakeholder with whom transportation planmers work.

C) Deleted, becawse it bhurs the paragraph’s focus on the community
stakeholders with whom transportation planners work.

0¥} Deleted, because it doesn’t provide specific examples of what the
numezaus benefits of walking are.




